
Ψ

Ψ

Φ

Φ

m ≥ n Φm×n



Φ m < n

n − m >

∃v ∈ Rn, ‖v‖! = : Φ · v =

n − V ⊥ Rn v V ⊥

V ⊥ {u , . . . ,un− }

Rn {v,u , . . . ,un− }

Ψ = [v u . . . un− ] ⇒ v = Ψ ·









Φ · v = Ψ v

Φ

f , . . . , fn






y = f (x) = f (x , . . . , xn)

ym = fm(x) = fm(x , . . . , xn)

R Rn

n g : Rn → R

n

n

ym× Rn x



k ≥ k

xn × (y , . . . , ym) k ≥ k =

(f , . . . , fm)

S =
{
z ∈ Rn

∣∣ ∀ ≤ i ≤ m : fi(z) = yi

}

S

xn× ∈ S S xn×

S xn× S &= ∅

xn×

∃v ∈ S, v &= xn×

v = x − 〈x,v 〉
〈v ,v 〉v

v v ṽ ṽ b a 〈a,b〉

{u , . . . ,un− } ṽ ṽ V ⊥

〈v ,v 〉 = 〈x,v 〉 − 〈x,v 〉
〈v ,v 〉 〈v ,v 〉 =

⇒ v ⊥ v ⇒ ṽ ⊥ ṽ

Ψ Rn {ṽ , ṽ ,u , . . . ,un− }

Ψ Ψ = [ṽ ṽ u . . . un− ]



v x

v = ‖v ‖! ṽ ⇒ Ψ ·





‖v ‖!




= v

x = v +
〈x,v 〉
〈v ,v 〉v = ‖v ‖! ṽ + 〈x,v 〉ṽ ⇒ Ψ ·





〈x,v 〉

‖v ‖!





= x

k ≥ v x

k =

k = k =

S ⊂ Rn

∀a (= b ∈ S : < |〈a,b〉| < ‖a‖! ‖b‖!

S

∀a (= b ∈ Rn : |〈a,b〉| ≤ ‖a‖! ‖b‖!

b a

|〈a,b〉| = ‖a‖! ‖b‖! ⇐⇒ ∃c ∈ R : a = cb

Ψ S S



a,b a,b ∈ S Ψ S

Ψ b a Ψ

Ψ Ψ

a,b b a

a,b Ψ Ψ

Ψ a,b

S





f (x) =

∑n
i=

i− sign(xi)

f (x) = ‖xn× ‖! =
∑n

i= |xi|

sign(a) =






a >

a =

− a <

xn× f

f n f

$n log % −
n− ,

n−

f (x) = f

xn× =

a.b f

b a f (a) = f (b) &=





a = [a . . . an]T

b = [b . . . bn]T
f (a) = f (b) ⇒ ∀ ≤ i ≤ n : sign(ai) = sign(bi)

⇒ aibi ≥ ⇒
n∑

i=

aibi ≥ ⇒ 〈a,b〉 ≥



aibi i

〈a,b〉 >

b a f (a) = f (b)

Ψ

f f

b a f f

∃c ∈ R : a = cb ⇒ f (a) = ‖a‖! = |c| ‖b‖! = |c|f (b)

c = |c| = f (a) = f (b)

c = −

c = − ⇒ a = −b ⇒ 〈a,b〉 = −‖b‖!

f (a) = f (b)

Ψ f f

f

f

f

Cn Rn






f (x) =
∑n

i=
(i− )sign

(
(xi

)
+ i− sign

(
)xi

)

f (x) =
∑n

i= |xi|

f (x) =
∑

xi "=
msign(#xi)·$xi

|#xi|+|$xi|

msign(a) =





a ≥

− a <



Cn

k −

xn× k xn×

Ψ k −

a , . . . , an






y = a x + a x + · · · + anxn

y = a x + a x + · · · + anxn

y k− = a x k− + a x k− + · · · + anx k−
n

k

{y , . . . , y k− } xn×

{yi} k−
i= {xi , . . . , xik} xi k



k

∃c , . . . , ck ∈ R : yi +
k∑

j=

cjyi−j = (k ≤ i ≤ k − )

yi Z xi

k k ci yi xij

y =
∑n

i= ai





yk− yk− . . . y

yk yk− . . . y

y k− y k− . . . yk−




·





c

c

ck




=





−yk

−yk+

−y k−





ci

xij xn×

ci

q(z) = zk + c zk− + c zk− + · · · + ck

⇒ q(xi ) = q(xi ) = · · · = q(xik) =

xn× ci q(z)

xn×

xn×

y , . . . , yk− xij yi Z

dj

yl =
k∑

j=

djx
l
ij

, ≤ l ≤ k −



ai dj

ai dj

ai xn×

xj xi ai aj

k

det





yk− yk− . . . y

yk yk− . . . y

y k− y k− . . . yk−




=

k {yi}

k xn×

k

Ai =





yi yi− . . . y

yi+ yi . . . y

y i y i− . . . yi




, ≤ i ≤ k −

i detAi #= i

xn× i xn×

dj dj y , . . . , yi

aj xn× aj

aj dj

aj



dj

aj

≤ j ≤ n : aj = j

k aj

f( ) = f

f f(xi) xi f(xi) xi

f( ) = xi

[f(x ), . . . , f(xn)] [x , . . . , xn]

xi f

k [x , . . . , xn] [− , ]

[− k− , k− ] k −

i f i(x) f(x) = e
jπ x

f xi

xi

[−M, M ]





y = a sin
(

πx
M

)
+ a sin

(πx
M

)
+ · · · + an sin

(
πxn

M

)

y = a sin
( πx

M

)
+ a sin

( πx
M

)
+ · · · + an sin

(
πxn

M

)

y k− = a sin
(
( k − )πx

M

)
+ a sin

(
( k − )πx

M

)
+ · · · + an sin

(
( k − )πxn

M

)

sinx = ejx−e−jx

j

k {yl}∞l=

k k −

q(z) k

∀ ≤ l ≤ k : q(z) =
k∑

i=

ciz
i =

k∏

l=

(
z − ej

πxil
M

)(
z − e−j

πxil
M

)
=

k∏

l=

(
z − z cos

πxil

M
+

)



q(z) c = c k =

ci = c k−

∀l : =
k∑

i=

ciyl−i = ckyl−k +
k−∑

i=

ci(yl−i + yl− k+i)

ci





yk + y −k yk− + y −k . . . y + y y

yk+ + y −k yk + y −k . . . y + y y

y k− + y y k− + y . . . yk+ + yk− yk









c

c

ck




=





−(yk+ + y −k)

−(yk+ + y −k)

−(y k + y )





y−l = −yl y =

k y− , . . . , y −k y , . . . , yk−

q(z) c , . . . , ck yi

ai [x , . . . , xn]

{yl}l

k x k

k x

k {yl}l

ai

k k
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